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o . SectionA S o

Answer all questions.
Each question carries 1 weightage.

What is Fiscal Policy ?.
Define M_arginal Utﬁity.

Deﬁné decision,—making. o

" 'What do you mean by National Income ?

What do you mean by ‘Marginal Rex}enﬁe'? B
, Déﬁne Econorrﬁc?lanning. ‘
(6 x 1 = 6 weightage)
Secﬁ@ng | -
- Answer any 'feﬁr questions,
~Each question é’arrie’_s 3 weightage.
."What are the respons1b1htles of managerlal economist ? ‘
- What do you mean by productlon functlon ? |
: Why demand curve slopes dov_vn_wards ? |
What is Delphl Method ? -

What are the factors determmmg income elastlcﬁ;y ?

. What do you mean by constant returns to scale ?

(4 x3 =12 welghtage)'
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, Sectioni C | |
‘ vAnswer"d.ny' thi*ee ’quesfioiis S
Each question carrzes 4 wezghtage
E)‘cplam the need for measumng the na‘tlonal mcome
Brleﬂy explain. the apphcatlon of economlcs theories in Bosmess demsmn ?
Explam the scope of Mahalanobls Model | A
Explam the various effects of busmess cycle.
Why demand estlmatlon is 1mportant ? ‘
| . | (3 x 4 = 12 weightage)
__Section D N .
Compmlsm;y question.
6 wezghtage .

“LIO, a cell phone manufacturer estabhshed its busmess in Delhi, in 2006 W1th1n a year they

were able to establish themselves in the domestic and national market for the 1nd1genous product .

'Dunng the fourth year of business they wanted to exnand their market to the mternatlonal level.
They found they were not achieving the expected sales and the proﬁt margin is low. Their financial -

consultant advocated economy of scale and ﬁnanmal engmeermg operatlons Presently several of 5_
their cell phones Lamda are Dow avallable in the go dow

The R and D wing of the company con51sted of experts in the field. They had found a new chip,
which had helped in manufacthng their recent innovative products Lamda cell phone. The
researchers were sure their Lamda would sell like hot cakes since this was the o‘nly miniature
phone in the market with the size 6 cm x 4.5-cm We1ghmg just gms. The breakthrough was the
new chip, which helped in bringing out this Lamda cell phone. Because of this chip they priced the
product at 5 tomes the regular products. Unfortunately the sales target of the new innovative
model was not up to the expectations. The customers lost their interest and ’che CLstomer satlsfactlon

- was found low as reported by the reialleru

Dlscuss _
What is the current s’catus of the company ?
2. What are the changes reqmred and why 5o o
3 What w1ll be the: strategm plannmg process that Would yoo recommend in thls Juncture ?

(1x%6= 6 Wezghtage) k
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